by: cthatcher

DESIGN_DRAWINGS\CHAPTER 700 DRAWINGS\MS71001.0WG Last_edited: DEC. 01, 03 ® 5:09

2003 MATERIAL_STANDARDS WORKS\DRAWINGS'

2003 MATERIAL_STANDARDS WORKS\03003-01

File:_P:\ACTIVEPROJECTS\03003.

»

o

NOTES:

. ALL DIMENSIONS AND EQUIPMENT LOCATIONS ARE APPROXIMATE

ONLY. SUPPLIER TO PROVIDE ACCURATE DIMENSIONS AND
EQUIPMENT LOCATIONS WITH SHOP DRAWINGS.

EQUIPMENT AND HARDWARE QUANTITY SHALL BE SUPPLIED

TO SUIT TYPE OF SIGN AS DEFINED IN THE SPECIAL PROVISIONS
(RESTRICTED RIGHT TURN OR RESTRICTED LEFT TURN).

PROVIDE DETAILED EQUIPMENT AND HARDWARE QUANTITIES WITH
SHOP DRAWINGS.

SAFETY CABLE, SUPPORT BRACKET ASSEMBLY, AND 1" LIQUID FLEX
CONNECTOR ARE OPTIONAL AND SHALL BE SUPPLIED AS REQUIRED
BY THE CONTRACT SPECIAL PROVISIONS.

T

~C—JHHB- - —|

it il

™~

MANUFACTURED PART LIST

REFERENCE

QrY

DESCRIPTION DRAWING REFERENCE

MS710.:

MS710.:
I MS710.!

Jus710.
Jusz1o.

EQUIPMENT LIST

REFERENCE

Qry DESCRIPTION

I MANUFACTURER PART NUMBER

[ADR2

TM2S8—C

| PLT1.5M
PLT2.0S

JAB—0154—46
5334

5264
A

SEE SPECIFICATIONS FOR
LED REQUIREMENTS

li

T

HARDWARE LIST

REFERENCE QrYy DESCRIPTION MANUFACTURER PART NUMBER
HO1 AS REQ.J1/2" x 13" N.C. S.S. HEX BOLT (4" SHLDR
HO2 AS REQ.[1/2" x 1/8" THICK S.S. FLAT WASHER
HO3 AS REQ.]1/2" N.C. S.S. HEX NUT
HO4 AS REQ.]5/16" S.S. FLAT WASHER
HO5 AS REQ.|5/16" S.S. LOCK WASHER
AS REQ. .C. S.S. HEX NUT

e e e e e e e o el

|3/87¢ S.S. SNAP_HOOK

N/A
N/A N/A
LEWMAR 7x19x316

PLAIN_COPPER OVAL SLEEVE JLEWMAR
|5/16" S.S. DROP—FORGED EYE NUT SPAE—NAUR 024-851

PAYNE'S 2450SS-10

z
g

Description

Date

LED REGULATORY SIGN

MAIN ASSEMBLY

>|m|oo|m|m(o|x(—|| ¢

CONVERT TO LED

MAYO3

REVISION

i Drawing No.
RITISH Tranapmrtation
@ C?)LUMBIA nd Fghvars MS710.1

A




